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HPSSC JE CIVIL POST CODE-923

Q 1) Agriculture University Palampur is named after which

personality PV fayfaenea urquqR &1 AmHRr fog
fade & ATH W far T

A) ST. A10.TH. URHAR/Dr. Y.S. Parmar B) -dTol UTIAS
Eﬁﬂ/Netaji Subhash Chandra Bose C) SI.X oG UdTc/Dr.
Rajendra Prasad D) IRk HXJIPHIR/Chowdhary

Saravankumar

ANSWER: iﬁ%l'\Pf JIGIPHIY/Chowdhary Saravankumar

Q 2) Roerich Art Gallery is located at which place of H.P

A I At T . F PR R RA?
A) Naggar/ TR B) Andretta/ 3igel Q) Bharmour/'l-RTﬁT D)
Sujanpur/JsITTYR

ANSWER: Naggar/TR
Q 3) Jararphuki marriage is prevalent among the tribal

people of which districts of H.P ER'ITW'Q’I’I’Q&@ﬁ *

ot foret Y wrromferal & yraferd &

A) BITST /Kangra B) THET/Chamba €) G 31/ both and D)
/Kinnaur

ANSWER: GIF131¥/both and

Q 4) Which Viceroy named his daughter after the Naldehra
5 ISR A AT & W W 3= T BT A3 @1
A) Lord Amherst/?*ﬂé@:l%@ B) Lord Lytton /T’HTS;%IET'T Q)
Lord Rippon /(«n:cfﬁ'q——r D) Lord Curzon/ﬁ'l_sc

ANSWER: Lord Curzon/?l'l—sc
Q 5) Mandi state was an offshoot of which Princely State

{31 sy T ot I &t g1 2 i
A) Bushehar /gRIgX B) Sirmour/@RTﬁTC) Hindur/%ﬂ? D)
Suket,

ANSWER: Suket/Jdd

Q 6) Which valley is also known as Baspa valley g a1t
B TRIUT "I & 9 | W} ST Srar 8

A) 98/ Balh B) 8RR /Chuhar €) TTET /Sangla D) TidaT
/Chauntra

ANSWER: 9¢/& /Sangla
Q 7) Indrahar pass connects Kangra district with which place

of H.P SHBR &1 BITeT ord 3t T . & P == A
g g

A) 3T B) H3T €) HRER D) T

ANSWER:

Q 8) Which sage has been associated with Rewalsar in

district Mandi, H.P ﬁ?@ﬂﬁ@tﬂ HHSI oA F
RaeR A aas &

A) Lomash/?ﬁﬂ'sﬂ B) Vyas/T¥ C) Bhardwaj/HRgISI D)
Prashar/URIRR

ANSWER: Lomash/HET

Q 9) Mindal Devi temple is situated at which place in H.P
fisaddt iR . dl. FfFaR A fRa?

A) Kaza B) Keylong C) Devi Kothi D) Udaipur

ANSWER: Devi Kothi

Q 10) Dal fair is celebrated at which place in H.P R
wa.f. & 5 I W v a8

A) Dharmshala/ﬂﬁ&’ﬂ?ﬂ B) Sarkaghat/ XDIYIC C)
Kandaghat/ SISTYIC D) Rajgarh/JST G

ANSWER: Dharmshala/

Q 11) The Rasa dance is prevalent in which district of H.P

I Ta .0t F 759 e & wafea @

A) Sirmour/RIRAR B) Solan/IIE €) Shimla/fRIAET D)
Kinnaur

ANSWER: Sirmour/ﬁRTﬁT

Q 12) HRTC came into existence in which year HRTC forg af
e & Sman

A) 1971 B) 1974 C) 1985 D) 1990

ANSWER: 1974

Q 13) Simbalbara National Park is situated in which district

of H.p RISGERT A¥Ta o ga. 0. & fory o & fRua
A) Sirmour/ RRAR B) Kullu/@ <] C) Lahaul-spiti ISIRSE
ifa D) Mandi/'q_bpf

ANSWER: Sirmour

Q 14) Who was the first Chairman of H.P. Administrative

;:si't_:;mam v 4t vsfafeefea fesgia & wuw srege

A) Justice TV.R. Tatachari /ST €1.41.3(R. dIdRIRI B)
Justice H.S. Thakur/ ST Td.UY. BTG C) Justice M.H. Beg/
STe UH. TS D) Justice J.N. Banerjee/\—rlm SLE. oI
ANSWER: Justice H.S. Thakur/STRe¢< T9.TH. STH

Q 15) Founder of Kunihar dominion was ?ﬁ?ﬂm
& IS A

A) Ajay Dev/maa B) Basant Paul/@ﬂ'ﬁtﬁa C) Abhoj
Deo/ﬂ*ﬁﬁéﬂ D) Vir Chand/ffﬁ?‘l'_ctr

ANSWER: Abhoj Deo/3IHIST 24

Q 16) In the mid-section formula &I ‘HT'TW'I}I

A) The mean depth is the average of depth of two

consecutive secﬁons@ﬂﬁ‘lé?lé Eff TR @s“faﬁllsz 5‘

DI Sﬁﬂﬁ% B) The area of mid-sections is calculated by using
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mean depthT &[T Tl & &5 &1 TTUMT SiTd TTERTS BT SUTT
Waﬁ\_ﬂ'ﬁ‘ﬂ%C) The volume of the earth work is calculated
by multiplying the midsection area by the distance between
the two original sectionsH&J Rk &qaﬁmﬂ:ﬂ W‘TGQT%
BT IUTNT BHRP P! STl § D) All of thesed THY

ANSWER: All of thesed Taft

Q 17) To keep the intensity of bearing pressure between the
column base and concrete compressive throughout the
length of the column base the ratio of the moment M to

axial load P should be BT TR eﬁvawﬂe%éﬁm
19 1 Alerdl HIad ATUR S TH7T Gl

A)<L3 B)<L6C) >L3 D) >L6

ANSWER: <L6

Q 18) The centrifugal force due to curvature of track is
assumed to act on the bridge at a height ofﬁ\_ﬂlﬂ'a\%ﬂgw
ehdT AT & BT UG a6 AT &

A) ¥ 09 ¥ 1.23 H. SR B) ¥ lad I 1.50 HI. SR €) XA
Tad ¥ 1.83 Hl. HUR D) I A9 ¥ 2.13 L W

ANSWER: ¥ ddd 9 1.83 W SWR

Q 19) Minimum pitch provided in riveted steel tanks is
des Wa ¢ d gaau U yea ot ot @

A) 1.5dB)2.0dC)2.5dD)3.0d

ANSWER: 3.0d

Q 20) If the gross vehicle weight of a truck is 30 tonne and
rolling resistance is 30 kgtonne, then the tractive effort
required to keep the truck moving at a uniform speed is TIﬁ'
TP P B Hd 18- YR 30 e 3R Ao UfaRIe 30
e 8 99 T & THaEE

A) 30 kgfdHIT B) 300 kgfdhUT €) 900 kegfdh ™I D) 1000 kgfdaT
ANSWER: 900 kg

Q 21) A machine costs 20,000 and its useful life is 8 years.
The money is borrowed at 8% interest per annum. The
capital recovery factor at 8% interest per annum for 8 years
is 0.174. The annual equipment cost of the machine will be
Ueh 7 B @RI < 20,000 &

A) % 1,740 B) 3,480 C) 5,220 D) % 6,960

ANSWER: X3,480

Q 22) The original cost of an equipment is 10,000. Its salvage
value at the end of its total useful life of five years is X 1,000.
Its book value at the end of two years of its useful life (as
per straight line method of evaluation of depreciation will
be Tdh 3U

A) % 8,800 B) 7,600 C) 6,400 D) X 5,000

ANSWER: %6,400

Q 23) An earth moving equipment costs X 5,00,000 and has
an estimated life of 10 years and a salvage value of X 50,000.
What uniform annual amount must be set aside at the end

of each of the 10 years for replacement if the interest rate is
8% per annum and if t

A) %31,050 B) X 34,500 C) X 37,950 D) X 50,000

ANSWER: X31,050

Q 24) Ratio of permissible stress in direct compression and
bending compression is UcT&l Tded iR dp Tiea &
U= yfaad U @

A) Less than 11 TP B) Between 1 and 1.51 3R 1.5F &
C) Between 1.5 and.2.01.5 3R 20F & D) Greater than 22

3 31t

ANSWER: Less than 11 & &H

Q 25) If 20 kg of coarse aggregate is sieved through 80 mm,
40 mm, 20 mm, 10 mm, 4.75 mm, 2.36 mm, 1.18 mm, 600
micron, 300 micron and 150 micron standard sieves and the
weights retained are 0 kg, 2 kg, 8 kg, 6 kg, 4 kg respectively,
the fineness modulus of the

A) 7.3B) 7.35C) 7.40 D) 7.45

ANSWER: 7.40

Q 26) A continuous beam is deemed to be a deep beam
when the ratio of effective span to overall depth (1D) is less
than T Fdd YR DI TG YR AT o1 GH T & fe
%ﬁﬂﬁmﬁﬁwmmw(m) A B
A)1.5B)2C)2.5D)3

ANSWER: 2.5

Q 27) Two columns 50 cm x 50 cm and 60 cm x 60 cm
carry80 tonnes and 120tonnes of loads respectively. The
centre to centre distance between columns is 5.00metres.
The permissible bearing capacity of the soil is 20 tm. If the
footing is not to project more than

A) Distance of C.G. of the loads from the smaller column =
3.00 m B) The length of the foundation slab = 7.00 m C) Area
of footing slab =11.00 m2 D) All of these

ANSWER: All of these

Q 28) In places where the soil is soft and has small resistance
to the flow of concrete. Which one of the following types of
piles is used EE'WH\_SI'ETH'C{I' ﬁ?ﬂ%éﬁ'?ma;
TaTE HTUfARIY HU gIaT 8 981 -9 & & fhy ydR &1
R 1 7

A) Vibro pileﬁﬁhw B) Pressure pileGld ¥UIT C) Franki
piIeWR‘[UTf D) Pedestal pileam@ﬂfﬂ

ANSWER: Vibro pilefdsit =Jom

Q 29) The additional piles which are driven to increase the
capacity of supporting loads on vertical piles are known as

SR RO IR STdAfad YR Bt &A1 e & forg
Siferfarer UM it =rfera gt 9T § e @

A) Construction piIesﬁTﬁ'UT@{Uﬂ B) Raking pilesW@{Uﬂ C)
Eccentric pilesiﬂﬁw D) Sinking pilesﬁmw
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ANSWER: Raking piles BT BT

Q 30) Duco is one of the patent forms of ?ﬂ?ﬁ'mw
YeWEUT
A) Emulsion paintsqma—c' B) Plastic paintsWIT[@Eb_a—cr C)

Bituminous paints@?ﬂﬁlzma—cr D) Cellulose paintsﬁ?ﬂ?ﬁﬂ
tc
ANSWER: Cellulose paints@?ﬁ?ﬁﬂﬁ?

Q 31) The law of Polygon of Forces states that W%E’g"ﬂﬁ
I FTHYT R

A) If a polygon representing the forces acting at pointin a
body is closed ﬁ@ﬂﬁﬁ%%ﬁgwmw
aﬁmﬁ%a‘raaﬂmrawﬁ%l B) If forces acting on a
point can be represented in magnitude and direction by the
sides of a polygon taken in order then the resultant of the
forces will be represented in magnitude and direction by the
e foreht foig IR wriRd 96 %8 T X8 SgYST & €) If forces
acting on a point can be represented of a polygon taken in
order their sides of a polygon taken in order their resultant
will be represented in magnitude and direction by the closing
side TfE fpl fofig TR BRI 9af &1 6 | 79 Ig 4 D) if
forces acting on a point can be represented in magnitude and
direction by the sides of a polygon in order, the forces are in
equilibrium TfE foalt g TR HRRT 9 Sgysl & Uik
3R fE= gRT o4 & T S el § 9 JHATGRITH §

ANSWER: If forces acting on a point can be represented of a
polygon taken in order, their sides of a polygon taken in
order their resultant will be represented in magnitude and
direction by the closing side ‘Clﬁ' ot ﬁ'g"tﬂ' HTIRd aadl
P A E R TR

Q 32) If a body is lying on a plane whose inclination with the
horizontal is less than the angle of friction then qﬁw

Tad R faeu fUs foraer anahfas & ary foaara
uﬁwﬁwﬁm%a‘&(i) a force is required to move the
body upwards IUEakeA k|

A) Only (i) B) Only (ii) C) Both (i) and (ii) D) Both (i) and {(iii)
ANSWER: Both (i) and (ii)

Q 33) A load of 500 kg was lifted through a distance of 13
cm. by an effort of 25 kg which moved through a distance of
650 cm The velocity ratio of the lifting machine is Tdh 25 kg
AT §RT 13 cm gR1 & 500 kg HIR SSTIT AT Sl 650 cm
Dt g3t A Hafera gom

A) 50 B) 55 C) 60 D) 65

ANSWER: 50

Q 34) From a solid cylinder of height 8 cm and radius 4 cm, a
right circular cone is scooped out on the same base and
having the same height as that of the cylinder. The C.G. of

the remainder is at a height of 8 .4, vﬁ'l'&" 3ﬁ? 4 9.4,
ES A

A) 4.5 cmI.Ht. B) 5.0 cmT.H. €) 5.25 cmI. Y. D) 5.5 cmIT. AT,
ANSWER: 5.0 cmd. .

Q 35) One end of a light string 4 m in length is fixed to a
point on a smooth wall and the other end fastened to a
point on the surface of a smooth sphere of diameter 2.25 m
and of weight 100 kg. The reaction between the sphere and
the wall of the arrangement m

A) 102.5 kg B) 105.5 kg C) 108.5 kg D) 110 kg

ANSWER: 102.5 kg

Q 36) A flow through long pipe at constant rate is called Gl
U139 A fRR R R yaTe Feamr g

A) Steady uniform ﬂow@ﬁwm B) Steady non-
uniform flowf®R Wm C) Unsteady uniform
ﬂowx’d@ﬁwm D) Unsteady non-uniform

flow SRR SIS Targ

ANSWER: Steady uniform flow U TTdA® Y18

Q 37) A foundation is called shallow if its depth is WTﬂH
D1 SYAT BT WAl § afe SHD! TERTS &

A) One-fourth of its width@ﬁa@éﬁwiﬁzﬂg B) Half
of its widthwzﬁ@ﬂgﬁ 3feft C) Three fourth of its
widthw?ﬁ@ﬁﬁ?ﬁqiﬁzﬂg D) Equal to its width3Sgat
ST &b FHM

ANSWER: Equal to its widthwaﬁiﬁ:ﬂ'ﬁ;a?w

Q38) A fall in a canal bed is generally provided if JTHI-IIAT
TS -Tgx SRR | 3aUTd Yer fobdr siran g afg

A) ground slope exceeds the designed bed slope@mﬂﬁﬂ
3BT TER UUIaT & TSI 8lat & B) designed bed
slope exceeds the ground slope&lﬁ-lmﬁww 3-‘[&[
Ut & &m% C) ground slope is practically the same as
the designed bed slopeY{{H TGUIAT TGGIR® ¥4 I

P Ted TER UGUIdT o TH § D) None of these TH I
IS el

ANSWER: ground slope exceeds the designed bed slope'l-‘[&-f

UJUIAT SAfHB U JER UGUrdT A ST gl @

Q 39) Carli singly reinforced beam, if the permissible stress
in concrete reaches earlier than that in steel the beam

section is called U9 UHd Uaferd R H Ufe dple A
Y Ufdae W A Ugd YT gl 8 af eRA BIe
STl g

A) Under-reinforced section 39-gaferd ol B) Over
reinforced section 31f¥ Uaferd ®Ic C) Economic section
fderdft o1 D) Critical section Hifd® PpIe

ANSWER: Over reinforced section 3% Yaferd &1
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Q 40) A cantilever carries uniformly distributed load W over
its whole length and a force W acts at its free end upward.
The net deflection of the free end will be WWW
quf daTs W JHH faaf¥d 4R w &1 989 FRar g 8k
TP 9a W 39 Jad RR R &Y

A) Zero B) Upward C) Downward D) None of these

ANSWER: Zero

Q 41) Hydrographic surveys deal with the mapping of
ARG Td&I0T §IP AU & e fed 3

A) Large water bodies as"raam B) Heavenly bodies
NIECaNIREEaD)] C) Moutaineous region ddta &= D) in the
plainsﬁ?{l:ﬁﬁ

ANSWER: Large water bodies a:‘ﬁ\_rlﬁﬁm

Q 42) The minimum water content at which the soil just
begins to crumble when rolled into threads 3 mm in

diameter is known as dg meﬂw 3
AT IAPEd &

A) Liquid limit % ITHT B) Plastic limit TTRe HTHT C)
i_iqu:irrr\kage limit ?ﬂﬁ:{“\:ﬂq[ D) Permeability limit IRITEIT

ANSWER: Plastic limit G HTHT
Q 43) Given the atomic weight of Fe is 56 and that of C is 12
the weight percentage of carbon in cementite (Fe3C) is Fe

BT ATUIFAP HTR 56 3R ¢ BT 12 f3ar g3 g, @Y WA=<r3¢
(Fe3C) ® BT BT YR Ufa=d 8

A) 1.25 B) 3.25 C) 6.67 D) 9.12

ANSWER: 6.67
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